Computation Monday – January 17 (Due January 18th)
SHOW ALL WORK OR NO CREDIT!!!!! NO CALCULATORS!!

1) How many 3 1/2 feet pieces of rope can be cut from a 49 feet coil of rope? 
2)   A pole is 35 3/4 feet long.  If 3/8 of the pole is underground, then how many feet of the pole are above ground?
3 Lenny weighed 134 2/3 pounds at the age of 14 and 236 3/4 pounds at age 18.  How much did he gain in the 4 years? 
4)   On a trip of 1680 miles, you filled up the gas tank four times with 14 1/2m 15 1/5, 16 1/10, and 14 2/5 gallons of gas.  How many miles did your car travel per gallon of gas? 
5)   A share of INPEL stock sells for 24 3/5 dollars.  How much would 145 shares of the stock cost? 
6)   You want to replace a rusted water pipe that is 9 2/3 feet long.  You also plan to add two 5 3/4 foot extension to the pipe.  What is the total length of the new pipe needed? 
7)   You removed the door between your kitchen and dining room and enlarged the opening.  The door was 34 5/6 wide and 89 inches high.  The new opening is 48 1/3 inches wide and 92 1/5 inches high. 

    a)   How much wider is the new opening?

    b)   How much higher is the new opening? 
8)   The roasting time for a 16 to 20 pound ham is 1/4 hour per pound.  How long will it take to roast a 16 1/2 pound ham?
9)   Carlina practices the cello 3/4 of an hour a day.  If she practices 6 days a week, how many hours will she have practiced in one year? 
10)   Franco, Kyle and 93,998 other golfers each own one share in the Pippy Hills Golf Course.  If Kyle sells his share to Franco, what fraction of the total shares does Franco own? 
